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ENGLISH LANGUAGE
Choose the word, which is opposite in meaning to OPULENT.
(A) Poor (B) Clear
(C) Clean (D) Dark

Pick out the word that has either nearly the same meaning or opposite meaning 1o
EXONEARATE.

(A) Escalate (B) Admit
(C) Accuse (D) Reject

Choose the word that can replace both the words in italics in the two given sentences.
. [appreciate your ready wit.

[I. The two pens have visible difference in quality.

(A) Existing (B) Transparent -

(C) Sharp (D) C :
eGP

i .ra W
Observe the two italicized riardsg imiﬁaﬁlllou&ng two sentences and give your
observation by choosing an '!;pﬂnn below.

. 1am indebted to my friend’s wise councel,

1. Some members of the counsil walked out of the meeting.
(A) Only sentence-1 is correct.

(B) Only sentence-II is correct.

(C) Both sentences [ and Il are correct.

(D) Neither sentence I nor sentence Il 1s correct

Choose the most effective word to fill in the blank to make the sentence meaningfully

complete, His of the subject was so good that students had very few questions 10
raise.

(A) exposition (B) clanty

(C) disposing (D) exposure
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11. Arrange the four parts of sentences given below in best order to fill in the blank in the
given sentence to form a complete meaningful sentence.
A sub-inspector of police, and marched them to the local police station.
(P) disturbing a public meeting
(Q) justice to his uniform
(R) rounded up a group of miscreants
(S) bent on doing
(A) PRSQ (B) SQRP
(C) RPSQ (D) QRPS

LS

12. Choose the alternative which best expresses the meanmw idiom / phrase / proverb
o

given in italics in the following sentence : , - ﬂ
g vn-
If you rub him the wrong wtgf he"'lr;iau&nci‘tu rca:,t
(A) flatter him (B) it him
(C) annoy him (D) encourage him

13. Choose the alternative which best expresses the meaning of the idiom / phrase / proverb

given in italics in the following sentence.
I feel very put out about yesterday's incident.
(A) pleased (B) fearful

(C) disturbed (D) overjoyed
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17. Choose the word. which can most appropriately replace the italicized words in the

sentence.
| A soldier, who fights for money cannot be called patriotic.
' (A) honorary (B) sinecure
\
(C) mercenary (D) equestrian

18. Choose the most effective word to fill in the blank to make the sentence meaningfully

complete.
We should always make a
(A) best

(C) choosy

selection of friends.

(B) judicial

(D)

judicious .

Y

19. Choose the most appropriate pairsof ::?;dsﬂﬂ'nm the options given below to fill in the
blanks in the given gemﬁgcmh? e same order to make the sentence meaningfully

complete.

(A) hold, dilate on

(C) implicate, clarify

20. Select the correctly spelt word.
(A) Cemetry
(C) Cemetary
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soothsayers to them.

(B)

(D)

(B)

(D)

| The prince did not know what these omens might

portend, interpret

propound, explain

Cemetery

Cemmetery

and asked his
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In a jungle safari Suman started from his hotel and walked straight towards east. He
walked half a kilometre and then murned right and walked straight 1 km. Then again, he
wrned left and walked another half kilometre, when he suddenly found an elephant
charging straight towards him. Quite startled, Suman ran straight through the jungle back
to his hotel. What distance did Suman run and in which direction was the elephant
charging ?

(A) 1.414 km, Towards East (B) 2.828 km, Towards West

(C) 1.414 km, Towards West (D) 0.704 km, Towards East

Mr. Gupta was taking a morning walk along the bank of a river. He was walking in the
direction opposite to the flow of the niver. He also observed that his shadow was always
on his right side. In which direction does the river flow 7

(A) Eastto West (B) South to North
(C) North to South (D) West to East
Statement : “All doctors are good. Some women are doctors.™ "

Conclusions :

i
(i)  All good doctors are women. i”’ﬁ? Qs
“i] Some wumE!'le: Y ?gf-“ wa

*

N e )
Considering the above statement and tWo conclusions, select the best decision from
below.

(A) Only the first conclusion is correct.

(B) Only the second conclusion is correct.
(C) Both conclusions are correct.

(D) None of the conclusions is correct.

Considering the given statement and inferences, select the inference that definitely
follows from the given statement.

Statement : “Most students of this class are intelligent.”
(A) There is no student who is not intelligent.

(B) There are some students who are less intelligent.
(C) All students are intelligent.

(D)  Some of the students are intelligent.
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All the six members of a family A. B, C, D, E and F stays together. B is the son of C but
C is not mother of B. A and C are a married couple. E is the brother of C. D 1s the
daughter of A. F is the brother of B. How many children does A have ?

Ay 1 (By 2
(C) 3 (D) 4
Rural population Urban population
Professors
Post graduates

Considering the above diagram, find of the following statements is true :
(A) All urban people are post graduates
(B)  All rural people are professors.

(C) Some professors are urban but pot pﬂsmm%sw' b i
g i, PEYE ;--h IR H.I'i‘.:y R(
(D) All professors arg post-gfddyates. *=*

Educated

Employed
8 4 v
12 13
> 7

Backward community

Some demographic information about the district of Jaguli is shown in the diagram. The
triangle is for educated people, the rectangle is for employed people and the circle is for
backward community people. The numbers are in thousands. What percentage of
educated backward community people is unemployed ?

(A) 8.1% (B) 80%

(C) 20% D) 13.5%
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Distance between towns P and Q is 40 km. A man starts walking from P towards Q. He
walks 16 km on first day, 8 km on second day, 4 km on third day and so on i.e. each day
he walks half the distance that he walked on the previous day. In how many days will he
reach Q 7

(A) Never (By 10 days
(C) 16 days (D) 32 days

Find the missing number :

44 |
'3': T4 3
6 77
A 77 (B) &
T &
© % D) 3
Angular speed of the second’s hand of a clock is g -
%
(A) 60°/sec (B) . 90
- " ‘;:“,.u 2, ? (=
(C) 360°/sec o L 3% = (D) 180°/sec
Nt
Find the missing number :
4(1)1,9(H2,25(M 1, 100(3) 1
(A) 1 (By 2
(C) 3 (D) 4
. a + b means a is father of b.
. 2 % b means a is son of b.
. a — b means a is wife of b.
KZxT-Sx U] + P. then whatis Uto 27
(A) Father (B) Aunt
(C) Mother (D) Grandfather
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Which of the following numbers does not belong to the group
(A) 37582 (B) 63872
(C) 53872 (D) 82573

Choose the pair that best expresses the relationship similar to TICKET : ADMISSION
(A) School : Book (B) Money : Luxuries
(C) Coat : Pocket (D) Neck : Collar

Find the suitable set of letters which can be suffixed to all the letters/set of letters given
below to form meaningful words.

T H R
VO®* **
R * . =
Sl RLE R »
(A) ICE (B) EEP
(C) IDE (D) EAD
| :';._:'3
Find the set of letters that can be used to complete T.ME{}WDM and to begin the second
word ! g B o

‘ ‘ﬁ
ENT(**¥ ;L ES
(A) ITLE (B) BUMP
(C) RANT (D) RUST

In a row of boys Mahesh is twelvth from left and Ranjan is fifteenth from right. When
they interchange their position, Ranjan becomes nineteenth from right. How many boys
are there in the row ?

(A) 28 (B) 30
€y 29 (D) 31
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